EBS 120

| Onderdelentekening

Elektrowerkzeuge

@EIBENSTOCK

Wijzigingen voorbehouden

05/14




EIBENSTOCK

10.097.00 - EBS 120

Elektrowerkzeuge
mei-14
Positie Artikel Artikelomschrijving Aantal Positie Artikel Artikelomschrijving Aantal
1 10.383.00 Tandwielhuis EBS 120 1 st 32 10.383.32  Afstandsschrijf EBS120 1 st
2 10.204.32  PT-schroef 4 x 25 torx bol kop 8 St 33 10.383.33  Schroef M8x16 2 St
3 10.383.03  O-RING 16x2 1 st 34 10.575.44  Veerring A8 2 St
4 10.383.04  Fixeerstift EBS120 1 St 35 10.383.35 Handgreep EBS120 1 St
5 10.383.05  O-ring 5x1,5 1 st 38 10.383.38  Luchtgeleiderring EBS120 1 st
6 10.383.06  Veer TBV EBS120 1 St 39 10.201.40  Zelftappende schroef C 3,9x70 2 St
7 10.383.07 Moer M8X1 1 st 40 10.383.39  Veldwikkeling EBS120 / EMF125 1 st
8 10.383.08  Tandwielkogel met rad 1 St 41 10.383.41  Motorhuis EBS120 1 St
9 10.383.09  Naaldlager HKO709 1 St 42 10.383.02  PT-schroef torx 4x6 2 st
10 10.383.01  PT-schroef torx 4x35 1 st 43 10.383.43  Koolborstelkap EBS120 2 St
11 10.383.11  Afdichtingsring 1 St 44 10.383.44  Passchijf 4x8x1 2 st
12 10.383.12  Rubber bus 1 St 45 10.383.45  Koolborstelset EBS 120/EMF 125 1 st
13 10.200.17  Lager 629 1 St 46 10.383.46  Koolborstelhouder EBS120 2 St
14 10.383.14  Schijvenset EBS120 1 St 47 10.383.47 Spiraalveer 2 St
16 10.383.16  Lagerdeksel EBS 120 1 st 49 10.383.49  Handgreep EBS120 1 st
17 08.002.14  Schroef (kruis) 4 x 12 schuko 3 St 50 10.383.50  Printplaat EBS120 / EMF125 1 St
18 10.383.17  Ventilatorschoep EBS120 1 St 51 08.002.05  Schroef (kruis) 3.5x 9,5 2 St
19 10.695 Lager 626 2RS 1 st 52 10.205.06  Schakelaar EMF serie 1 St
20 10.383.20  Anker EBS120 1 St 53 10.520 Trekontlastingsklem 1 St
21 10.383.21 Lagerkap EBS120 1 St 54 10.204.35 Schroef PT 4 x 12 2 St
22 10.383.22  Afstandsring EBS120 1 st 55 08.003.25  Veerring M5 3 St
23 10.383.23  Afstandsring EBS120 1 St 56 10.383.56  Metaalschroef M5x18 3 st
24 10.203.48 Borgring 35/1,5 1 St 57 10.383.57 PT-schroef torx 4x14 2 st
25 10.383.25  Afstandsring EBS120 1 St 58 10.519 Kabeltule 23/2 1 St
26 10.210.49  Lager 6202 - 2RSH1 1 St 59 10.390 Aansluitsn QWPK groen 2x1mm 3m 1 St
27 10.383.27 Viltring EBS120 1 St 61 10.383.10  Steunflens M14 as tbv EBS120 1 st
28 10.383.28  Hoofdas EBS120 1 st 62 10.383.13  Spanmoer M14 tbv EBS120 1 st
29 10.383.29  O-ring 50x2 1 St 63 12.340.04  Pensleutel tbv EBS120 & EOF100 1 st
30 10.383.30  Tandwielhuis deksel EBS120 1 St 65 10.383.18  Hoofdas set EBS 120 1 st
31 10.383.31  Schroef Torx 4x18 4 St 66 10.383.19  Tandwielhuis set EBS 120 1 st

Wijzigingen voorbehouden




	10.097.00 - EBS_120_Version01
	10.097.00 - EBS 120



